National  5    UNIT 2
Practice NAB 2    Marking Scheme
Points of reasoning are marked # in the table.
	Question
	Main points of expected responses



	
	Assessment 1.1   Q1 Q2 Q4  Q5
	Threshold   5 out of 10

	1
	Ans:   y + 25 = -5(x - 4)                  1 mark

(1
correct substitution

	(1
y + 25 = –5(x –4) 
(or y = -5x -5) QUOTE 
 


	2
	Ans:  m > 3                                    3 marks

(1
simplify for m
(2 
simplify numbers

(3 
solve

	(1
subtract 3m from both sides
(2 
add 2 to both sides
(3
m > 3


	
	Assessment #2.1   Q3
	Threshold   1 out of 2

	3
	Ans:  11p + 3q = 13.54                   #1 mark

#2.1
uses correct strategy
sets up equation


	#2.1
11p + 3q = 13.54 

        (p is no. of litres of petrol

            q is no. of litres of oil

                   or equivalent) QUOTE 
 


	4
	Ans:   x = 2, y = 4                        3 marks

(1
multiply by appropriate factor

(2
solve for x
(3
solve for y 


	(1
3x + 4y = 22

16x – 4y = 16

or equivalent

(2
x = 2
(3
y = 4


	5
	Ans:  
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                 3 marks

(1
multiply by b
(2 
divide by 5

(3 
square both sides

	(1     
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 QUOTE 
 

	
	Assessment 1.2   Q6 -  Q9  
	Threshold   5 out of 9

	6
	Ans:    k = 3                              1 mark
(1
correct substitution

	(1
12 = k 22  and solves k = 3 QUOTE 
 

	7
	Ans:  b = -2   ,  c = - 4                    2 marks

(1
identifies turning point,

          find value of ‘c’
(2
find value of ‘b’ 

	(1
(2 , -4)   hence c = - 4 QUOTE 
 
(2
b = -2


	8
	Ans:   y- intercept (0 , -48) 
             Roots     (8,0) (-6,0), 
           turning point (1,-49)          3 marks

(1
identify and annotate roots and y-intercept
(2
identify and annotate turning point
(3
draw correct shape of graph


	(1
roots - 6, 8 and y intercept (0, –48) QUOTE 
 
(2
turn. pt. = (1, –49) QUOTE 
 
(3
correctly annotated graph
 QUOTE 
 

 QUOTE 
 

	9 (a)
  (b)
	Ans:  x = - 2                                  1 mark

(1
axis of symmetry
Ans:  (-2, -4) ,   minimum              2 marks

(2
turning point 
(3
nature 

	(1
x = -2 QUOTE 
 
(1
(-2–4)
(2
minimum turning point QUOTE 
 
 QUOTE 
 

	
	Assessment 1.3   Q10 -  Q12  
	Threshold   4 out of 7

	10
	Ans:  x = -5,  x = 2                       1 mark

(1
solve equation

	(1
x = –5, x = 2
 QUOTE 
 

 QUOTE 
 

	11
	Ans:  x = 5.45 , x = 0.55             4 marks

(1
correct substitution
(2
evaluation discriminant 

(3
solve for 1 root 
(4
complete solution 

	(1
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(2
24 QUOTE 
 
(3
x = 5.45        (5.449….) 
(4
x = 0.55        (0.550…..)

(rounding not required)
 QUOTE 
 

	
	Assessment #2.2   Q12 & Q13
	Threshold   1 out of 2

	12
	Ans:    NO  roots                          #1 mark

           b2 – 4ac < 0                        2 marks
(1
correct substitution
(2
evaluate discriminant
#2.2
interpret result

	(1
(–1)2 – 4 × 5 × 11
(2
-219
#2.2  No  real roots since 
b2 – 4ac < 0
 QUOTE 
 

	
	Assessment 1.4   Q13 -  Q16  
	Threshold   4 out of 8

	13
	Ans:  True. Yes  right angled      2 marks
                                                   #1 mark
(1
calculates and adds squares of two short sides

(2
squares longest side


#2.2
interprets result True             #1 mark



	(1
10.82 + 8.12 = 182.25
(2
13·52 = 182.25
#2.2
so 182.5 = 182.25
and hence triangle is right-angled using converse of Pythagoras.

        The pole is correctly erected.

 QUOTE 
 

	14
	|Ans:   angle MLK = 50o                 3 marks

(1
radius and tangent  perpendicular 

(2
subtract from 360
(3
correct answer

	(1
angle M = 90° and hence
                angle AED = 180 – 90 – 42 = 48o  QUOTE 
 
(2
360 – ( 90+90+130) QUOTE 
 
(3
angle MLK = 50° 


	15
	Ans:      1.92 litres                        2 marks

(1
use volume scale factor

(2
correct answer
	(1
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	Assessment #2.1   Q16
	Threshold   1 out of 2

	16
	Ans:     120o                           #1, 1 marks

#2.1 use a valid strategy
(
correct answer
	#2.1
finds centre angles   360/6 = 60° 
Or interior angles = (6-2) x 180°= 720°

(1 
interior = 2 x 60 = 120°
          Interior = 720°÷6= 120°



	
	Assessment 1.4   Q17 -  Q19  
	Threshold   3 out of 6

	17
	Ans:      see diagram                2 marks

(1
correct amplitude and period
(2
correctly annotated graph complete with roots, amplitude 


	(1
3 and 360°
(2 
Correct trig. Graph- sin
 QUOTE 
 

	18
	Ans:       90o                                      1 mark

(1
correct period


	(1
360°÷4 = 90o
 QUOTE 
 

 QUOTE 
 

	19
	Ans:    x = 48.2o and 311.8o            3 marks

(1
solve for cos x°
(2
solve for x quadrant 1
(3
complete solution 
	(1
cos x° = 0·66666… QUOTE 
 
(2
x° = cos-1(0.6666…) = 48.2°
(3
x° = 180o – 48.2o = 311.8°  QUOTE 
 
 QUOTE 
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